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2N BFIEHY
gl &l

HE: gRHIIHAH
ool BEUY B 2 (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %Eﬁ HRE2

SAE A 40,798,655 23,308,503 17,490, 152
= 26,714,326
= 13,684,329
£ 400,000

Qelst AN AH 1,543,208 1,193,208 350,000
= 303,000
o= 850,208
£ 390,000

Sy g4 23 1,543,208 1,193,208 350,000
= 303,000
o 850,208
£ 390,000

S otdYR= 262,708 327,708 A 65,000
=} 172,708
£ 90,000

203 €2 F=&d| 2,708 2,708 0

03 Al ZH =X 2= XIH| 2,708 2,708 0
SIEZE N HALZ=ZF (0l AHE 25%) 2,708

307 2iz2to| & 240,000 210,000 30,000
== 150,000
£ 90,000

02 QIZFAAAIE E X 240,000 210,000 30,000
OFLHE OISAE 2UBINE SHAY 90,000
£ 90,000
Ol B4 AU3IIE SHAY 120,000
OAEFHEHE StHLEE HBAE 30,000

308 XNHXIGHH SO0l & 20,000 20,000 0

10 B 2SO USE AN E AISH 20,000 20,000 0
OstZEAHZEI LY 2HAY 20,000

MO 2 AT o CH 28 =& 395,000 285,000 110,000

307 QI2t0| ™ 130,000 120,000 10,000

02 QI2tAMAIE E =X 130,000 120,000 10,000
OX&IIHAI ESHIALS 30,000
OBRAHZA FHIYE & AHAHAAS AL 100,000

308 AMXICSHHMSOIA 265,000 165,000 100,000

01 IXHHIMNEXS 165,000 165,000 0
O&HIHA 2H S 22 165,000

10 B2 SUHUSHEAEAE AT Y| 100,000 0 100,000
OAMHIH A A2 2l MElAAFY 100,000

SH2H IHoHAIE = HAISI Al 582,500 277,500 305,000
= 282,500
£ 300,000




2N HESED
MY HAFMAY
ool BEUY B 2 (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
207 S0 & 100,000 0 100,000
01 | 100,000 0 100,000
O&FY FAXH FOAHUAS XA 100,000
307 gizto| A 400,000 95,000 305,000
& 100,000
£ 300,000
02 QI2tAAMAIE E =X 400,000 95,000 305,000
OS2 ROINA S =014 2 A SR A 100,000
OXetg YA A F=H HEO|HUAL ST A 300,000
£ 300,000
308 XAHXIGHH SO0l & 82,500 182,500 A 100,000
01 AIKISHHENEXZ 82,500 182,500 A 100,000
OF)HSHMSAATH FOAHUAS 2L ALY 82,500
SABHAHR2YE 303,000 303,000 0
= 303,000
308 MXISHMSOIA 303,000 303,000 0
= 303,000
01 HXHHIMNEEXTZ 303,000 303,000 0
OEfet? stAEHHAEHSIAS 303,000
= 303,000
MEEZ 6] 22 23,503,529 13,119,904 10,383,625
= 14,447,483
= 9,056,046
CHO1&E 22| 23,203,186 12,993,461 10,209,725
= 14,378,062
= 8,825,124
SN EEZ2 e 2,116,890 2,116,890 0
308 XX SHHSOIH 2,116,890 2,116,890 0
AN ES 2,116,890 2,116,890 0
SN2 2,116,890
SHHdgisERu=2 e 28,638 28,638 0
308 XAHXIEHMSOIA 28,638 28,638 0
02 8x=NE3 28,638 28,638 0
QB &EEN=2 28,638
HAINAXE P2H EX 392,000 252,000 140,000
= 272,000
= 120,000
403 XX SHHS K20 & 392,000 252,000 140,000
=2 272,000
= 120,000
01 XIS A2E X 392,000 252,000 140,000




AN 2IEMD
Ha: ME3D e
Sl oI el CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OHAHIATISI ESAY 392,000
= 272,000
< 120,000
SNHHESALE JI=XE 49,500 49,500 0
307 21201 A 49,500 49,500 0
02 HAFAANFEX 49,500 49,500 0
OSZEH(ZHUHEMSE) =X (0l &HE
10%) 49,500
SIS X 70 X2 15,370,000 6,758,000 8,612,000
= 10,100,000
< 5,270,000
403 MtXISHHESA=0l & 15,370,000 6,758,000 8,612,000
= 10,100,000
< 5,270,000
01 HIXSHMA=2EE 15,370,000 6,758,000 8,612,000
OIS ESALY 15,370,000
= 10,100,000
< 5,270,000
H=EAHU E2SAHY 144,000 80,232 63,768
= 120,000
< 24,000
403 XIS S X201 & 144,000 80,232 63,768
= 120,000
< 24,000
01 AXSHM 22 = 144,000 80,232 63,768
OM=sAHU E3ALY 144,000
= 120,000
= 24,000
HII0IEX ES ALY 250,000 28,750 221,250
= 250,000
403 UHXSHHSA=0l& 250,000 28,750 221,250
= 250,000
01 XM A=E L 250,000 28,750 221,250
OHEIIOIEXN ESALZ 250,000
= 250,000
2HISI HEILA M2 ALY 3,874,658 1,716,451 2,158,207
= 3,156,062
< 718,596
403 MtXISHH S0l & 3,874,658 1,716,451 2,158,207
= 3,156,062
< 718,596
01 XM A=2EE 3,874,658 1,716,451 2,158,207
O=38X ZJIHXAY 2,957,916
= 2,275,320
< 682,596




2A: 3H
=

Hu: MEI el
S UorE 2el (cho &)
SH-HH . B(SH) - HBAMY - B2 o AF o San HDE2
OLPG 1€ SE2EX BEXZ2 XJAY 156,000
= 120,000
o= 36,000
OHsIA HZEI EAIY 100,742
= 100,742
OAEINAH AR W I A 150,000
= 150,000
OAEIH MZEX ALY 135,000
= 135,000
OPM-NOXx S Al M2EX 2=AH 375,000
= 375,000
Helo] SsEXEkol LPGXRE M8 K& AlY 262,500 267,500 A5,000
= 262,500
403 XX S M S X201 A 262,500 267,500 A5,000
= 262,500
01 MXHAHAEBE = 262,500 267,500 A5,000
O0elol Sstxtzo LPGRH &8 XI& At 262,500
= 262,500
ol =834 AX A g 180,000 180,000 0
403 XX S M S K201 A 180,000 180,000 0
01 AIXISHM A28 X 180,000 180,000 0
OUILLE=F A AXAY 180,000
S Z MU AHX M2AY 120,000 0 120,000
= 120,000
403 XXISHH S K201 120,000 0 120,000
= 120,000
01 AXHNMAHEE =X 120,000 0 120,000
O THHIAH X MH2FALS 120,000
= 120,000
DIMSIX LB &K A 150,000 0 150,000
403 XX S M S K201 A 150,000 0 150,000
01 MHXHAMAHEBE = 150,000 0 150,000
ODIMIHX e X AFS 150,000
leeEsdy 25 29 195,000 0 195,000
= 97,500
& 97,500
403 XX S M S K201 A 195,000 0 195,000
= 97,500
& 97,500
01 AIXISHM A28 X 195,000 0 195,000
OILLE=x3Y 2529 195,000
= 97,500
= 97,500




2N HESED
M 3ol 2
Sl oI el CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
s S32d g8 70,000 0 70,000
201 £B-2d| 70,000 0 70,000
01 At 22l 70,000 0 70,000
O0IMEZR S s 32 82 70,000
g3 el 300,343 126,443 173,900
= 69,421
< 230,922
SIS AE 22 24,700 24,700 0
202 O4dl 20,700 20,700 0
01 = LH 4 Hi 20,700 20,700 0
OSHZHUESANEEE LRFX (M A 2H10%) 20,700
301 et a s 4,000 4,000 0
12 JIE 243 4,000 4,000 0
Ogiztetdetrete thEgas 84 3,000
OstZegdlin(izg) &3 1,000
== AAsEFIJ| &X.2d92ed X 96,943 96,943 0
= 64,621
< 32,322
402 RI2EX=20l A 96,943 96,943 0
= 64,621
= 32,322
02 QI E2ALS EZ (01T S) 96,943 96,943 0
O=SJZZANAA 2= 96,943
= 64,621
< 32,322
QIZITES T ZAIE #sH X 4,800 4,800 0
= 4,800
308 XtXIEHH SOl A 4,800 4,800 0
= 4,800
01 AXHHILEES 4,800 4,800 0
Ogiztirssd 2 Alet XI& 4,800
= 4,800
FoaFH=HI| X NH 70,000 0 70,000
403 MHXSHHSA=0l& 70,000 0 70,000
01 X EHHMA=2E X 70,000 0 70,000
OUMAKRESIER ZXS 201tz =F)|
F=BN 70,000
StetE2d otz HE =g 29 83,000 0 83,000
207 A RO 83,000 0 83,000
01 A7 39l 83,000 0 83,000
O=HEE stst=22 oMz HE 8843 83,000
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SN2 ZHY HE2A0IE JHY 20,900 0 20,900
207 & O &H| 20,900 0 20,900
02 & A EHHI 20,900 0 20,900
EHUGC SANSD QUYL o B2H0lE
2 (0l & & 2+5%) 20,900
HOI22 otEA Hel & 2el 15,676,648 8,920,121 6,756,527
= 11,963,843
= 3,702,805
£ 10,000
HIIS29 B AMel ¥ 2l 15,676,648 8,920,121 6,756,527
= 11,963,843
= 3,702,805
£ 10,000
SEHHE =HEB4Z3 400,000 400,000 0
= 200,000
< 200,000
308 XtXIEHH SOl A 400,000 400,000 0
= 200,000
< 200,000
01 AXHHILEES 400,000 400,000 0
SZEMHHEYE =AHA243 XA 400,000
= 200,000
= 200,000
HE Xl Edl At 2,228,600 1,068, 100 1,160,500
= 2,026,000
< 202,600
403 HXSHHSA=0l& 2,228,600 1,068, 100 1,160,500
2 2,026,000
< 202,600
01 HXSHMA=E X 2,228,600 1,068,100 1,160,500
OHI=I 4 oH & Xl &8I0l &) 2,049,300
=2 1,863,000
< 186,300
OHIAMIHE X FHI(EH) 122,100
= 111,000
= 11,100
OHI AMoH& Xl HbBl(Efer) 57,200
2 52,000
< 5,200
L2EAIE & X 6,724,200 4,460,600 2,263,600
= 5,452,000
< 1,272,200
403 MtXSHHE A0l E 6,724,200 4,460,600 2,263,600
= 5,452,000
< 1,272,200




2N HESED
Ma: o2 OFE Hol U el
e HIIS22 AHFEXe & 22 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 XIS A2 X 6,724,200 4,460,600 2,263,600
OB0HZ A2ZAE XX 1,377,700
= 1,117,000
o= 260,700
OBt A2ZFAIAD AXI KR 2,064,600
= 1,674,000
& 390,600
OZ2FA A2ZAIE UEx K& 3,281,900
= 2,661,000
= 620,900
HOlZ2+H € XN 231,938 229,381 2,557
308 XHXIGHHM SO0l & 231,938 229,381 2,557
01 XHHIMNEXZ 18,000 18,000 0
OHYstZ+H 18,000
11 JIEtEE =2 213,938 211,381 2,557
Os2AvblY =AY 2E2 213,938
ol&Eot M Dl HSHAFY 519,214 647,340 N 128,126
= 443,000
& 66,214
£ 10,000
308 XAHXIGHMSOIA 519,214 647,340 N 128,126
= 443,000
& 66,214
£ 10,000
01 AIKISHHEMNEXZ 519,214 647,340 N 128,126
Odt&Est MY D HtArY 519,214
= 443,000
& 66,214
£ 10,000
=SSOt 53 K& 262,650 344,250 A 81,600
= 154,500
= 108, 150
403 XXM S K201 A 262,650 344,250 A 81,600
= 154,500
= 108, 150
01 MXSHAHXNEE X 262,650 344,250 A 81,600
O=2sdoly &K 262,650
= 154,500
& 108, 150
MRe s Ct=D| 756,400 220,900 535,500
201 Bt 80,500 85,000 A4 ,500
01 AP 22| H| 80,500 85,000 A 4,500
OXgzs Y= =2 40,000
OMEEZ IS 222=H 843 S0
2H10%) 40,500




&
122 A3 XMl E 2el
22 HEMXMel F 22l

M. (3H) - HEAY - B2 ﬁlf& HDS2
307 QI2t0| & 32,400 32,400 0
02 AP MAIEE X 32,400 32,400 0
OMYZ HII=S 28 Jlzs NSH(HAA
) 16,200
0549 A=W £33 L #7325 2
Ofl AFE 2H10%) 16,200
308 A XISHXSO0IH 103,500 103,500 0
01 AXHNBMNEXTZ 103,500 103,500 0
OMY D SYEED 2AE 29 103,500
403 XX S M S X201 A 540,000 0 540,000
01 MXHHAE2BE = 540,000 0 540,000
OMEM )| BHES2t 2eld At 540,000
METJA3+HE XX 4,141,700 1,036,000 3,105,700
= 3,358,000
o= 783,700
403 XX S M S K201 & 4,141,700 1,036,000 3,105,700
= 3,358,000
== 783,700
01 XIS A2 X ,141,700 1,036,000 3,105,700
Otz MEXJASHE &= , 147,000
= 930,000
[ 217,000
OOtALAl MEXIAAZ =HEH &5 ,081,900
= ,688,000
o= 393,900
OHEAN MHEXNJASHE &S 148,000
= 120,000
< 28,000
OMAAl MEXRAZHEH &S 271,400
= 220,000
o= 51,400
OR0Z MEX3AsHEH &= 123,400
= 100,000
= 23,400
OFCHAl MEXAZFHEH &= 370,000
= 300,000
o= 70,000
SIS HXE BIOIItASH AFY 324,400 347,800 N 23,400
= 263,000
& 61,400
403 XX S M S K201 A 324,400 347,800 N 23,400
= 263,000
& 61,400
01 IXHHE2BE =X 324,400 347,800 N 23,400
OMAAl SINEHTE ol A X AL 2! 324,400




2N BHEH D
MM HIISO HEAE Xel & 22
e HIIS22 AHFEXe & 22 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 263,000
& 61,400
Mes sHY daXXH 87,546 165,750 NT78,204
= 67,343
= 20,203
403 XX SHHS K20 & 87,546 165,750 NT8,204
= 67,343
= 20,203
01 XIS A2E X 87,546 165,750 NT78,204
OomMeg st 8&x1X& 87,546
= 67,343
=} 20,203
HMHAY (B EBEY) 75,270 75,270 0
JI2Z L (#ZE2XF 1) 75,270 75,270 0
J23H (32 E&E ) 75,270 75,270 0
201 LBt ]| 35,640 35,640 0
01 AP 22| H| 35,640 35,640 0
OsAEH HR2=Z (0l A& 2H10%) 35,640
202 04d| 35,640 35,640 0
01 2L HI 35,640 35,640 0
OHAEH A=K (0 A& 2H10%) 35,640
203 ¥ 2 =& 3,990 3,990 0]
04 EANSIHI2FXY| 3,990 3,990 0

EVEY
OBALHD YREX (0l &= 25%) 3,990




